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% R A - BARTiE B % B B & i) m o=
B 13, 549, 669
TR XS 13, 549, 669
TR XS 13, 549, 669
EEAGE 11, 189, 500
HIEES 433,500
1 B 1.00 433,500 433, 500
=
T EEO®KRET 8,727,900
2 TRZAGFEEDRE 1.00 1,687,900 1,687,900
=
3 BRERE R BKREFIE R DOBRET 1.00 1,027, 300 1,027, 300
=
4 hitt Y EFOREIORKRET 1.00 3,088, 400 3,088, 400
=
5 &R TEOKRE 1.00 1,769, 500 1,769, 500
=
6 BARMEEREENOER 1.00 1, 154, 800 1,154, 800
=
IR DORRE 992, 200
1 EIRFEAZDORE 2.00 207, 400 414, 800
=]
8 ETIRASENDIER 2.00 288, 700 577, 400
=]
& - |mE 563, 000
9 EATHE 1.00 121, 800 121, 800
=]
10 PREHRE 2.00 121, 800 243, 600
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=
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=
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15 EBHELRE 1.00 130, 000 130, 000
=
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16 ZESEHE 1.00 100, 400 100, 400
=
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17 f*#& 1.00 1,978, 504 1,978, 504
=
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18 ETEERE 1.00 45, 000 45,000
=




WER SO REHPIRH LRSS (1) T 557

% g R - KSR Bifr B 2 B i & &8 " =
BRI 11,189,500 + 2, 360, 169 13, 549, 669
BEEAGE 11,189, 500
BE#ERE 2,360, 169
Z Ot SR f 11,189,500 x 53.85% ( 35% + (1 — 35%) ) 6,025, 545
BRI 13,549, 669 + 6,025, 545 19,575,214
—REEES 19,575,214 x 53.85% ( 35% + (1 — 35% ) ) — 6,466 10, 534, 786
KBS 19,575,214 + 10,534, 786 30, 110, 000
HET S L 30,110,000 x 10.00% 3,011,000
EBEAN 30,110,000 + 3,011,000 33,121, 000
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A 1.50 64, 800. 00 97,200
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A 2.50 57,000. 00 142, 500
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& Hi 1E%HeH - 1.00K 1, 769, 500. 00 1,769, 500
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AR (A)
A 6. 00 57,000. 00 342,000
HEm (B)
A 4.00 47, 200. 00 188, 800
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A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 1.00 38, 400. 00 38, 400
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FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57,000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47,200
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A 1.00 75, 800. 00 75, 800
FEHRAR (F%ET)
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F{EHRAR (F%ET)
A 1.50 64, 800. 00 97,200
AR (A)
A 2.50 57, 000. 00 142, 500
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A 2.50 47, 200. 00 118, 000
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&% EEARE 1LY
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EXRARE
= 1.00 106, 265. 00 106, 265
& Hi 1E%HeH - 1.00K 106, 265. 00 106, 265
&5 .15
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EBHRERE
= 1.00 130, 000. 00 130, 000
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= 1.00 100, 400. 00 100, 400
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L% mIEERE 14y
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E-ARYIUTRE
I 1.00 45, 000. 00 45, 000
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